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7.7
7.8
7.9
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7.29
7.30
7.31

iscuss th y
D e general characteristics of Group 15 elements with refi
reference to

eir electronic conﬁguration da
th ion, oxidatio
-~ oy tion state, atomic size, ionisation enthalpy

Why does the reactivity of
nitrogen differ from
phosphorus?
a;rslcucsls the trend‘s in chemical reactivity of group 15 elements
y does NH; form hydrogen bond but PH, does not? )

How is nitrogen prepared i
of the reactions 1nvlo)lved. n the laboratory? Write the chemical equations

How is ammonia manufactured industrially?

[llustrate how co

e EHE T fiper metal can give different products on reaction with HNOs.

e FINEL Illa ng structures of NO, and N,Os.

an

ettt Con bge value is higher than HPH, HAsH and HSbH angles. Why?
¢ e explained on the basis-of sp’hybridisation In NH, and only

s-p bonding between hydr N

ydrogen and other elements of the groupl.

Why does R;P = O exist but RN = O does not (R = alkyl group)?

Explain why NH; is basic while BiH, is only feebly basic.

Nitrogen exists as diatomic molecule and phosphorus as Pi. Why?

Write main differences between the properties of white phosphorus and red

phosphorus.

Why does nitrogen show catenation properties less than phosphoms‘?

Give the disproportionation reaction of HiPOs.

Ccan PCl; act as an oxidising as well as a reducing agent? Justify.

Justify the placement of O. S, Se, Te and Po in the same group of the

periodic table in terms of electronic configuration. oxidation state and hydride

formation.

Why is dioxygen & gas but sulphur a solid?

on gain enthalpy values for O —» O and O = 0> as -141

Knowing the electr
and 702 kJ mol ' respectively, now can you account for the formation of a
' and not O7?

Jarge number of oxides having 0> species
(Hint: Consider latticé energy factor In the formation of compounds).

Which aerosols deplete ozone?

Describe the manufacture of H,S0, by contact process?
How is SO, an air pollutant?.

Why are halogens strong oxidising agents?

Explain why fluorine forms only one€ oxoacid, HOF.
pite of nearly the same electronegativity. nitrogen forms

hy ins
Eaplain, N g while chlorine does not.

hydrogen bondin

Write two uses of ClO,.

Why are halogens coloured?
Write the reactions of F, and Cl
How can you prepare Cl, from HCl
What inspired N. Bar
What are the oxidation sta
(1) HsPOs (1) PCls

with water.
and HCl from CL,? Write reactions only.

t reaction petween Xe and PtFg?
(tv) NagPO4 (v) POF5?
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7.2

7.9
7.24

7.8
7.88

7.39
7 .40
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How are Xl m o 1 C10 et T T G G LT T
with whint ‘nr‘niml pofect e 4

! Lo
bane” , v
Hiow Aare Xl aid X"”"'a l’”'“'"”'
Arpange 1he foltowing 11 (he ordet o ‘"““P”y pncktested S earky o

m F, Cl. B b (yrensinig b tjamon i cothialgry
(11) .H‘lu e HI pprerensiing el slrength.
1) NH,. PHa Asta shil, Bt nerenning DA strength
Which one of the followling does fi0il exint”

(1) XeOF, (1) Nel, (111) ek, (1) Ae¥,
Give the formula and dencribe the slroctire of a noble gps sperie
1= lmmmu-l‘uml with: VIR Wik
(1 1C1, (1) 1Br, (111) Bro.,

comparatively large Atore. sizes?

ganes have

why do noble
con and argon ganes.

List the uses of 1





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

